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N.B. 1) All questions are compulsory.
2) Figures to the right indicate marks.
3) INustrations, in-depth answers and diagrams will be apprecmted
4) Mixing of sub-questions is not allowed. '

Q.1 Attempt All(Each of SMarks) Koy (15M)
(a) Choose the Correct Alternative --

1 Triggers enabled or disabled
a] Can be b] Cannot be i
¢] Oughttobe d] Always®

T — combines the data rnampulatmg puwer af SQL wnth the data
processing power of Procedural languages. | |
a] PL/SQL b] SQL -
¢] Advanced SQL d] PQL

ili  Which of the folTowmg is not.aproperty of transacttons‘?
a] Atomicity b] Concurrency

c] Isalation d] Durability

iv A transaction completes its execution is sald to be

g
-

gl Rolled | d] Commltted
v Assume transactmn A holds.a shared lock R. If transactlon B also requests

for a shared lock on R.
a)] It will result in.a’'deadlock situation
b] It will immediately:bé rejected

c] It will immediately be granted

d] It will be'granted as soon as it is released by A

(b) - - 'Fill in‘the bl#niks by selecting the correct option from the pool given:
-(DROP SEQUENCE sequence name, Data Control Language, Cursors,
Peinters,Replace, Récovery measures, committed, Completed)
o. i Todrop a specific sequence we have to enter following syntax .......c.ec......
2 e statement changes the control within a PL/SQL Block
(S, T — are used to recreate if trigger already exists.

; iv  Checkpoints are a part of .................
- "~y A transaction that completes its execution successfully is said to be ............
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S0133 /52005 DATABASE MANAGEMENT SYSTEM.

Give syntax of anonymous PL/SQL block.

How to view stored procedure?
What is a SAVEPONT ?
What REVOKE command does?

How to alter a sequence?-
Attempt the following (Any THREE)

Explain the following in one or two line
Define Index. What do you mean by pr
Explain sequential file organization.

- Write a short note on sequence alon
How to create and execute stored P

Explain insert, update tr
Explain with an example how
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Q.3
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(c)

end loop and while
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